= tC = 2
A\ @
vl 2
o e RS | %ct;
| s
] @J . ‘l?)
't=‘|t‘
1 'E?CT
'/—_“‘\@J(:'v_ a e}
t=T N (1 /
u_. [‘-L L l z
(B) (J\‘ I é“—* {& ﬁ' _;{ = 3 Ml
I 2 - | 1
T l\C(—A-" -)-‘-,)

¢y BEHEFHRTT %= M Cos O

0 = m:‘b-F.'hB—

LZ
f}v\’-u-z (fn(‘&-\- S:MES) o 7.‘—“

) A PV=aaRT
248 L Qas =0 + FnR(2T-T)
B) 2PV =nR2T
[?-‘rqu l @eec = Wge + D

c) P.2v = nR-2T

4 l Q@ca = P(y-2v) +§MR(T-2T)
=-§nRT

LA
2’

2 l
6 Fafx—o—— S5 o 3 &
C-g¢ c+dc " 471
Bl
R 14
2
w |L+ ey =Cy . ©

L+ Zeti- gcT=clT-t) @
d= Lt EZCT—%CT ..®
0@ &y tit R

Tt = }EEL T @ = 4% 2.

2 1 il )
SN e 1 B Al
L+31_ T T- 3 L

o ¢
5 - ealiF
3

I erT

l
ShEQ Ifn d = goTe LT eT

&Y

¢ LAy

v (o) = POV

@) Qug= 2aRT= Zpv

) 8 A
ZT -




2 ) T=2h‘.@ ﬁ=4mm"

—‘-Z

EE &y EJL:mAg=J—3-_[

-3
47 ing v TP B, Te
e birag T 4'wms T F T RS
i
) (&8 ho Aadt 1,
T
é@l%ﬁfﬁ MADo = MaTA + Mg Dp Lo
FhtLY)  (Po-0)xl-e) = b4 -V --@
@ 39
Va=-en+Ue ¢ O 1Ty
'T. i Ma o = —~Cma Do+ MV +Ths e
- s na
R B el L R s O3 TE
Q
! bW xafR | x= Dt
i

yif Y = 7at?

Y= lomieT)x (x Eo2 T R

\ 2y
79t = FUt L= T
. 2u* 2 l 2
lol: = b ) .7___1_1;' | 4 U
* g SR Taq G2 g
%c.o(=/~k/[\[+ h‘\cgf:v\?o.
N = mﬂr_ﬂﬁofgb'

" 5 I 1 g
{Wtd"/lj\%ag_-z—‘m:;-—a— oL = ;3(“5/\)
FE3Jsvam et v

Y _ | 2v
V-wt =0 L= j(I+E)A'J."PH—J§}‘TK?
@ vt Loy
8 3, 77 M AV
e =2 S Ve T
=g S L /Z/i//f " (kB ) 9%
] [ (.?__\L' -y—zJ 5 l ' VZ
l+Isp’ Vg~ g YN
M BN
H-\T)-'\ 3 jA 5 (.;i_l)



3

W B207777FerPkee Srogthaprdirwizcrs Xz afe
B3, +A6E A, boAr ARFAREcRukens, XY 2vTFi0-13 B30
B 9%, Lkt T Yig &b
3fiL .. X aL¥M- . F i ..Y
Bl ad.

Vo TVe  4xuv" Les” t
= I° I' L =S = 0 = —_— = — —I
Vo AV P o Lo 2r L /'3-3.4.},{ 34 22xiy
F3 foAa ’i’-'ih" fﬁ\L*ﬁﬂ?"_

(H)

160 = fo xR R = 2.0%lp (n.)
B 2ofhaPEablfitr-b (o FHS
| 2.0 % 4x107° o |
f-b = f.TC— To C—:-I/_‘:';./ﬁff_ = e x(o = zj-"o-" CF:)

(@) Bli o 4538 T2 e

(e ik

Tr
i E =Chatis)r+ Vv
| \/= (2R = -9(:

. V . r

1 R L e BN A Y
R R

. ER- FV - Ry

rR

o BTG T-2rc . Ste< PANE. ao Uy
Ptlhh st o WKW

: ' t
() TALY-2 %23 1 \/

o e "
2¢C .

E
[a —a=
o $50 8558 ST ¢ Tv. £k $RE Tih R 7 { %

. 'i L-Ihgx Ih-p( = ]—LC- - HR

FIP



%

fA) (4) d§;w84= A.o

G AR (I3t sabatkzc THAS

T\

d
Dat K2<%3 /
i) d-&t# Cch— ;“'BAI_J )\I\:'C 34‘—2 - A/
(9.4"\‘./\1\ <f'Z -

G) C=fA o FIEMNELTIDY, $k clz-2
hS mErERc T #Hirlia Le i3
Ll E m/‘;ﬁiq (£ ﬁ"Eﬁ?r
(a) {O\‘Q:HBA=;10

o - # JélLT lﬁ/%c.s‘&‘\z /M/(
L bl casBA=% R B“—J 4

vy Wt atiohr B BB BEEy 28850 E ¢ 42202
dsinoly+ d SinBg = 2 A,
osi Ba=2. &5 S d Swoh= A, & o= B4

1748 874 12
dsivntlo + dsind = n. -;Ao

dsind = M- 35 d 50 Da - dsinBa

|3
h=loi(? BAIa‘EJ\?" oo ‘c_-_;a,ﬁpVF,
sivB En=1)ern Ba

: Erfi= 1 604
(B) (=) §hiEp L b o fhffin Bz EEER A T2203

| |
e i
atk:cIze ih:L?(/a‘J_ b1 —L—u:;c:gps;r (bmwh2<cs1)
m = % Frsmia L2 (%3
¢y T o @1E Gy bR Wiz T4 = @

) B2 (e B aftdE by
1 | | (

T ™ [
T —a-(3a) b~(-a) 4a 5 bt T 4a

"'QA -a ] o ‘% L,+ o = ~-4a Ll = ...3'&

MNL222 5 (e i 2d, vin
i l |
Tty T ban A @ ba=Dy

ba-a g
*R a-C-ta) 4 fi

b -(-a)
(a) \_a—[FJaJ




